PARALLEL AND PERPENDICULAR LINES IN THREE DIMENSIONS

1 Given L hasequationx=1+2t,y=2~t,z=3+tand L, has equationx=2+5,y==1+25,z=1=3s, then L,
and L,
A areparallel B intersect C  are perpendicular D  are skew
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PARALLEL AND PERPENDICULAR LINES IN THREE DIMENSIONS

4 Given L, has equation x=2+2t,y=2+1,z=3~tand L, has equation x =2 + 5,y = =1 + 25, 2= —6 + 45, then
L oand L,
A areparallel B intersect C are perpendicular D are skew
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PARALLEL AND PERPENDICULAR LINES IN THREE DIMENSIONS

5 Line L, passes through the points (1, 2, 1) and (4, =1, 2) while line L, passes through the points (2, 6, -2) and

(a,-1,5), whereae R
Find the value(s) of a, if:
(@ L, isparalleltol, (b) L, is perpendicularto L,
—
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PARALLEL AND PERPENDICULAR LINES IN THREE DIMENSIONS

7 Find the coordinates of the points where the line r = (1 - 4)i + (4 + 24) + (3~ A)k cuts the coordinate planes.
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9 (a) Show that lhehnl:(hmugh the points (2, 1, =1) and (3, =2, 0) is parallel to lhelirl:ellhmugh the points

(=273, 2) and (215, 6).
(b) Show that the point (1, 4, =2) lies on the first line and the point (6, —27. 10) lies on the second line.
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PARALLEL AND PERPENDICULAR LINES IN THREE DIMENSIONS

Lo
10 Show that the line through the points (2, 1, -1) and (3, -2, 3) is perpendicular to the line through the points
(1,3,2)and (-1, 5, 4).
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PARALLEL AND PERPENDICULAR LINES IN THREE DIMENSIONS

11 (a) Find the equation of the line L, through the point (2, 1, =2) parallel to the vector v = i - 2 + 3k.
(b) Find the equation of the line L, through the points (1,-2, 1) and (0, 2, -2). e T
(c) Determine whether () L, || L,. (i) L, L L,, (iii) L, and L, intersect. 2z U4
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